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O2FE &3H ¢ 108,750
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ogsdH 35,000& * 2850 x 103 99,750
odog asH 7Y 13,860
oz 35,000& * 12 x 33/ 1,260
osH 35,000& * 1204 * 33/ 12,600
ORs7H 45 2¢ 5,400
oz 30,000& * 1504 4,500
osH 30,000& = 304 900
OHALZc2A d9%E X
30,000& = 104 * 10g] 3,000
o=suUEg &2H 1,780
o= 5,000& * 84 * 43| 160
ogsH 5,000& = 81f * 43| 1,620
Oo=sg &aZH 1,980
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osH 5,000& * 914 * 43| 1,820
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oXHEB LR
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o sl dx%
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0&% 1,685.23% = 34 ~ 704 = 308 1,062
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Odiswgoas MID 7L
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SEHEE o222 ArY 9,000 9,143 A 143
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OYEHY HLHE %4E Y
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OBSUZAL BAT FEITA HYBES 42
2 4, 000& * 4509! 1,800
OSHYLTE HYFSAS 7Y
7,000€ = 1,000¢! 7,000
OZLUYFSAB(4+5 S 113)
14,000€ = 1,000¢! 14,000
OW%EES JIANNM 2
500,000& = 23] * 5= 5,000
OALULHEZAE RY(REER)
3,000& * 700¢! 2,100
OBBMI0IA S SR ESAE (22 2)
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OS2ZNUTHEEXE(SR22)
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OZx0LES HAJAESH XA
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405 XHAHFEEHI 1,000 1,000 0
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== 6,153
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Dl 20,511
= 6,153
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OBAHA SRAYS A =2
70,000& * 12& 840
Ol 24l 942
ORIAAUINA A=H|
1,307.31& * 24 = 8A|l2t = 45 942
O[N&EZY L SXH] 4,994
OBZAA BEAHAXNA BAHIES A HAEK XY
6683 * 7,476M 4,994
O[XzAetd]] 22,777
OBAHAMAEINY & el 16,777
0 FYs 1,868.392 = 804 = 8CH ~ 12& 14,350
0&d% 1,685.23% * 304 = 404 » 12& 2,427
OBAEL2F=X X&F4=4AH|
500,000& = 1204 * 13 6,000
202 o4 H| 90,720 98,874 N8,154
01 2L I 4,320 12,474 N8,154
SA2Y SHAN 20,000& = 12¢l 18 4,320
02 NI 86,400 86,400 0
OBZAX A, Mg 23 EHNY|
200,000& = 36¢Q! 128 86,400
203 € R =& 8,700 8,480 220
02 BRI HR2FAH| 2,520 2,300 220
OFIINMA 2 =AH| 40,000& 639! 2,520
04 FEASHEYIFFEH| 6,180 6,180 0
OBAHABASIS WY A 515,000& 128 6,180
AASAE J|2AHH| 10,441 15,403 N4 ,962
201 LBt 9H]| 6,241 6,763 NB22
01 AP 22| H| 6,241 6,241 0
Ofgete==4l] 4,183
OBASYE SHAHN 4,183,000& * 14 4,183
O] 2,058
ORASYE SHAHN 7,0008 * 721 * 42 2,058
202 044l 4,200 8,640 N4 440
01 2L HI 4,200 8,640 N4, 440
ENSY SHAH L 20,000& = 7921 % 30 4,200
gtojerel J|2& | 9,242 10,628 AN 1,386
201 LBt ]| 4,922 5,582 A 660
01 AP 22| H| 4,922 4,922 0
OfgetE==4l] 2,654
ORASYE SHAHN 2,654,0008 * 14! 2,654
O] 2,268
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201 LEt2 Y| 169,097 166, 138 2,959
01 AFR2t2ldl 51,955 52,095 A 140
OlgetsgH|] 49,995
OFRANEY SHH L 1,428,420& x 359I 49,995
Ol=gdl] 1,960
ORNEY SHAHA 7,000& * 3501 = 8 1,960
02 33294l 117,142 114,043 3,099
OlB222 % HMAlI 96,936
oOdNse3 70,0003 * 23 A = 128 19,320
oNIIea 220,000 * 23 A = 12&€ 60,720
oOaxl 2 21,000& = 2304 « 12&8 5,796
OKMEsS A2 £&42
15,000& * 230 = 128 4,140
ORHE 22 320& * 3,000& 960
OZ2FEEAHOYA =4 22|
250,000& * 2JH A = 12& 6,000
O[e2Hl] 20,206
O MSBA LY AZH|
1,307.31& * 0.74 = 120 = 8Al2t = 234 20,206
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